(360 20 (slaasuh

WWW.Snrazavi.ilr go, ol o
\yay




1RV — (598) pob spw - uac slaaSyids - Gaac PSsL



(00 (sloaSun

-5

f=Wx

f = W, max(0, W;x)

3072

wl

100

b Ll b L)

W2 S

10

1WAV - (5018) pob 33w — uoc slaaiud - Grac R0



(00 (sloaSun

I,

f=Wx

f — W3 maX(O, WZ maX(O, Wlx))

3072

b Ll b L)

Y Y ae aSUS b (9T

hl

W2

h2

w3

100

100

10

1WAV - (5018) pob 33w — uoc slaaiud - Grac R0



(00 (sloaSun

N =
[Ls ) ol VY ae e SO oigel (g5lwosls O

01. X = mp.arrayil 0,0, ). 18,.1,1], [1,0,1]),.[3,3,2] 1) o8 e
02. y = np.array([[0,1,1,0]]).T

03 syn0 = 2*np.random.random((3,4)) - 1

04. synl = 2*np.random.random((4,1)) - 1

05 for j in xrange (60000) :

06. 11 = 1/ (l+np.exp (- (np.dot (X,syn0))))

07. 12 = 1/ (l+np.exp(-(np.dot (11,synl))))

08. 12 delta = (y — F2)*(12% (1-12)))

09, 1 delta = 12 delta.der(synl.B) *= (1l =* {I=11})
10. synl += 11.T.dot (12 delta)

13 syn0 += X.T.dot (1l delta)

from @iamtrask, http://lamtrask.github.io/2015/07/12/basic-python-network/
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# receive wl, w2, bl, b2 (weights/biases), X (data)

# forward pass:

h = #... function of X, wl, bl
scores = #... function of h, w2, b2
loss = #... (several 1lines of code to evaluate Softmax 1loss)

# backward pass:

dscores = #...
dh, dw2, db2 =  #... X wi | h W2 S
dwl, dbl = #...
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class Neuron:
#...
def neuron_tick(inputs):
“"r assume inputs and weights are 1-D numpy arrays and bias is a number
cell body sum = np.sum(inputs * self.weights) + self.bias
firing rate = 1.0 / (1.0 + math.exp(-cell body sum)) # Sigmoid funciion
return firing rate
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Leaky ReLU ELU

10 F

X x>0

max(0.1x, x) flx) = {a’(exp(x) — 1), x=0
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class Neuron:

#...

def neuron_tick(inputs):

assume inputs and weights are 1-D numpy arrays and bias is a number “””
cell_body_sum = np.sum(inputs * self.weights) + self.bias

firing_rate = 1.0 / (1.0 + math.exp(-cell_body_sum)) # sigmoid function
return firing_rate
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# forward pass of a 3-]layer neural network:

f = Tlambda x: 1.0 / (1.0 + np.exp(-x)) # activation function (use sigmoid)

X = np.random.randn(3, 1) # random input vector of three numbers (3x1)

hl = f(np.dot(wl, x ) + bl) # calculate first hidden layer activations (4x1)
h2 f(np.dot(W2, hl) + b2) # calculate second hidden Jlayer activations (4x1)
out = np.dot(w3, h2) + b3 # output neuron (Ix1)

1WAV - (5018) pob 33w — uoc slaaiud - Grac R0




aasl) a)ladl g slaad ey
e

3 hidden neurons »} 6 hidde neurons 20 hiddn neurons

iy Cad b =y g

1BV — (5415) ol 3aw - (hac (SlaaSud - Gaac sPSsL



aasl) a)ladl g slaad ey

DS ooliiwl yse8 (w99 SO 5l ol Gl A g 0SS ooliiwl aisS pdatls lgie 4 cuae 4SS o5lusl 5l O

Lzﬁw‘/

1BV — (5415) ol 3aw - (hac (SlaaSud - Gaac sPSsL



A} ST TN

-0V
S 50,158 Juado Mals say ol loyg)s o guae a5 0 O

oS ookl (6,10 Sae 4 LS gilweols 5l aas o Sl Lo a0 aaY sgpho 3l oolaiwl O
[ ile o 0sile]

AR | e 6&&9)5.3 )“ sloas solw )L.Mg LgLQJJ«O (G0 Al GL“QB)P [

il gl 55 eas AL S ool a2 O

Dol oolaiwl by jg pudais gl g (698 0olS pudal SO jlaS bbb a0

1WAV - (5018) pob 33w — uoc slaaiud - Grac R0



=
da | awwls
S
s SraSl 990 40 oy las O

g cuwlin Jlade s O

inputs x outputs y
- <
B complex graph —»
—> —>
—

1WAV - (5018) pob 33w — uoc slaaiud - Grac R0



